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) it = = = F KR
1 7o R\ SR AL 50 81 3 FRFIC
2 P8 Rk A\ SR At 54.5 76 3 N
3 P8 R\ SR AL 49 67.5 4 NG
4 P8Rk A\ SR At 87 65 3 BA14E58HH
5 P8 Rk N\ SR AL 55 84 4 PN
6 P8 Rk A\ SR At 68 115.5 3 BA33E6AHH
7 7o Rk N\ SR AL 32 46 2.5 NG
8 P8Rk A\ SR At 35 50 1 NG
9 P8 Rk N\ SR AL 44 51.5 4.5 PN
10 PARLF A\ R fe At 50 (71) 3 NER
11 P8 Rk N\ SR AL 20 28 2.5 NG
12 Fa R\t 26.5 31 1 PN
13 KT AE A feR A 85.3 108.3 4.8 NG
14 IR AR fe A 111 166.2 5.5 A R84
15 B R CTE kA 42 125.5 1.5 AR LE
16 Ik AR R4 113 167 6 BB
17 SCEAE R fR At 114 163 5 BESA94F
18 IR AR A feR At 34 43.5 2.5 RFN24E
19 IR AR feR A 42.2 60.5 2.5 RIE24E58
20 IR AR A feR At 64 61.2 4.1 PN
21 P8 Rk N\ SR AL 125.5 178 5 BIETE
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1 TEREREE SR 86.8 130.8 4.3 PNz
2 TR St 71.8 130.5 3.5 BA3A384E 118200
3 R RE L 41 200 2.5 BA)A36F118 7
4 ElEy =2t an 61 68.5 5 I<ER
5 MG R BT 96.3 151 3.2 BR/A284E 2K 107
6 EITEE Bt 42.8 56.2 2.7 BI3E11A
7 EYPRE SHAL 57.5 72.7 4 mINTLB AR
8 5P Bttt 50 74 3.8 FRf1144108 18H
9 PR Bt 33.7 48.6 2.5 KIF144£10819H
10 =R St 38.7 46.2 2 ANER
11 EYPRE S R 50.3 76 3.5 BAA354F IH11A
12 BT Bt (RAZftt) 53.5 65.3 3 LINTLD AR
13 e=p e 68.5 94 3 Nz
14 BT Bt 38.2 52.7 2.8 RIE3F10A
15 5 PR B At 48.2 63.4 3.2 BR3R404E3 8
16 =R St 75.3 99.5 3.2 BA)a364 IH3A1H
17 =R Sttt 30.5 45.5 2.6 pNz
18 IR St 45.2 60.2 3.5 T<ER
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1 SRS (RHEF) 119.5 180 6.5 35284 ?
2 SlaEE (REF) 89.5 121.6 3.2 N

3 SRS (RHEF) 60.7 90.2 2.5 RIESE
4 FEAN\ERE AR FEA) 26 33 1.7 NEA

5 \igEtt (Fa7) 24 23.5 0.5 NER

6 A N\ESRE R FEA) 33.5 39.2 2.5 BR374E
7 NEREOR BH) 24 28.5 0.5 ANER

8 FEAN\ERE AR FEA) 35.5 43 1.5 BR374E
9 ARFP AR (HRTE) -19.8 34.7 0.6 NER
10 | mKPAEEEERS) 22 DT IEI 11 P

el 307

11 ARP AR (HKRTS) 26.2 35.7 0.7 NER
12 A A\ESE R FA) 34 40.2 2.4 NEA
13 A N\ERE R FA) 36 41 2 NER
14 ARGk FA) 66 400 4 FEROOFH 4
15 A EIBELOR ) 66.5 335 4 ANER
16 BB (R 7E5) 42 51.8 2.8 BN
17 etk #H) 36 54.6 2.6 E
18 | HRES#EHEL(BREARR) 50 110 7 NER
19 | HERESEHL(HREATR) 81.3 178 5.5 FBFN4346 A
20 | HBREE ST (BREARFIR) 81.3 179 5.5 FEAN434E6 A
21 | HREEHH (BRRAFIR) 58 97 5.8 MXATTE
22 | HEREEHH(BRRAFIR) 81.8 180 4 FEFI9F 128
23 | HREERH (BRRAFIR) 81.5 17.9 4 FBF1184E8 A
24 AR ISR+ (F1R) 59.8 90 3 FEAN124
25 ARFP AR (HKRTS) 37.8 57.2 1.0 BA3E (RFHXL)
26 ARFEEA=E RSP E) 38.3 55 1.9 KIE8%3AH15H
27 ARFP AR (HKRTS) 7.2 24.2 1.7 A
28 ARHAE (BRFTA) 26.9 32 #%2.3 REF
29 JE DB EEhE 60.7 91 3 ANER
30 JE D RIZRNE 60 84 3 NEF




31 J& DRI E 32 40 2.5 AR

32 & D B I 45 60.5 2.2 RIE6£E2 A

33 JE D EEEER & 45.3 61.3 3.2 RIE1247R
34 & D B I 46 67 3.2 RIE8F2A8H
35 JE D EEEER & 43 61.4 2.5 REA

36 & D B I 47.7 84.5 3.3 K25

37 JE D B LR & 24.8 49.7 1.8 REAFEHREA=TH
38 [EDEEmME 41 29 2 BA—+=—FhAEFH
39 JE DB EME 34.5 435 2.5 T<ER

40 JEDREENE 25 34.2 2.3 ZNiJE

41 JE D B LR & 34.5 32.8 2.9 B4 =/
42 JE 0 BEEER & 42.3 30.3 2.4 BM—+=F=-A%&AH
43 [E DB EEME 60.2 85.6 2.6 <ER

44 JE 0 BEEER & 42.5 49.8 2.2 NG

45 [E DB EEME 33.5 45.7 2.7 <ER

46 JE D B ERER & (18.4) (29.8) 1.5 KIE2€11827H
47 JE DRI E 35.5 46 2.1 3354

48 JE D HEEEER & 25.6 35.6 2.5 REA

49 B 0> B EE P 5 20 32.2 2.5 REA

50 JE D HEEEER & 30.7 36 3.2 REA

51 & D B I 41 25.8 3.2 BAM19E11AEH
52 B DR 46.6 60.7 2.5 <ER

53 B 0> B EE P 5 43.2 68.1 3 BR;A384E M ?
54 JE 0 R IRRh = 62.5 74.7 2.5 RKIEbFLIRFH
55 & D B I 61 (116.5) 3 ZR19%F

56 JE 0 R IRRh = 12.7 17.2 2.5 PNiJE

57 B O B EE T = 13 15.2 1.4 REA

58 JE 0 R IRRh = 14 18.8 1.1 PNiJE

59 B O B EE T = 13.7 20.4 2.1 REA

60 JE D HEEER & 13 18.3 1.3 FBf269F1812H
61 & D B I 12.5 16.3 1.4 REH

62 JE D HEEER & 13.3 18.8 1.1 REA




63 JEDBEEEME 14.8 19.7 0.6 T<ER
64 JE D HEME 13.8 (18.5) 1.4 T<BR
65 JE D BEEEE (14.9) 19.3 1.3 PNiE
66 JE D HEEME 15.5 (19.9) 1.3 I<BH
67 JEDBEEEME 15.4 19.7 1.2 <ER
68 & EEmME 14.8 19.7 1.3 Rf31F4H8H
69 JED B EME 12.8 16.9 1.4 T<ER
70 [ED R E 15 20.1 1 PN
71 BoOREME (15.1) (19.8) 1.1 N
72 JED R E 48.1 51.7 2.2 PN
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HERE St 53.5 225 5 P NC
e Sttt (4 T 46) 98 188 6 NEE
e 14t (4R T 45) 96 188 6 NEF
e Sttt (4E) 90 42.5 2 piots 4o
4R SRt 86.5 30.5 2 ZR184F
4R St 40 77 1.0 I<BR
FERE S (FE) 69 182 1.5 BR7G234F A58 0 H
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1 FARATE 4L (R A) 76.5 147 3.9 BAH424E8 A
2 FAAR AR Rt (R AR AN) 63.2 190.5 4.2 BRiaTE

3 RINE/ R4 (KA ) — — — FEAnC

4 SR St (5) 46.5 85.3 0.8 N

5 SR St (54) 65.9 91.7 5.4 KIR15E8 A
6 SR St (5) 39.8 51.8 2.5 NG

7 SR SRt (5 ) 44.8 60 2.5 NER

8 SR St (5) 22.2 30.2 1.7 FAF55E12 4158
9 SR St (54) 30.2 26 3 Bf24FE1AHH
10 Sk Bt (5 8) 54.4 102.8 3.9 N

11 SR SRt (5 ) 60.8 117.8 4.7 NER

12 SRk Bt (5 1) 50 111.6 3.9 FBAI40FE11H15H
13 SR SRt (5 ) 62.8 45.2 3.6 NER

14 SRk Bt (5 1) 75.2 45.4 1.1 RIEBE3A
15 SR St (54) (21.5) 63.5 0.7 RIR134
16 RANE/\ R (KA ) 55.3 91.7 2.3 A28
17 KA AR (KFR) (10.4) (22.2) 1.3 N

18 KA A (KFE) 14.9 19.9 0.9 BA124E7A1H
19 RABASRRL CKFA) 21.8 26.1 1.9 E

20 RFANE/ 3R+ (KFIE) 17.3 (13.8) 19.7 1.2 A<BH

21 RANE R (KA ) 27.8 26.9 1.2 RIEAELR
22 RANE SR (KA1 ) (19.5) 34.4 1.3 REF

23 RN (KFR) 56.3 87.8 2.3 ARG434 I1H2A 1H
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1 Fig ARt (FR) 54 93 2.7 BAH284F

2 Pl N\ SR att (F i) 69.6 39.6 3.5 N

3 Fig ARt (FR) 56.8 177.7 4 BA52546 A
4 Pl A\ SR astt (F i) 26.3 36 3.6 B

5 P N\ttt (i) 44.8 60.5 2.3 NER

6 g A\ R4t (F ) 59.1 40 3.2 NEA

7 g ARt (FIR) 66.8 39.3 3.2 BA52846 A
8 g A\ R4t (F ) 57.5 97 4.4 NEA

9 P N\ttt (i) 27.3 40 2.8 NER

10 Flg ARt () 39.4 27.3 3.1 FEANT7 &
11 P N\t () 36.8 29.7 2.0 NER

12 e E A\ SR () 42 65 2.7 NEA

13 e N\ AL (16 ) 82 66 3.0 NER

14 IS N\ S ek (I3 39 59 2.5 A8

15 e N\ AL (16 ) 36 47.5 2.0 RIE14E
16 g NI () 44.5 60 2.0 BN

17 Flg ARt (F ) 56 99.5 3.0 E

18 g NI () 47 89 3.5 BN

19 I A\ SRR () 103 52.5 7.5 —

20 e N\ A (I 5 66 135 5.8 BR1142A1H
21 IR A ER AR (N7 54.3 75.8 2.5 RIE6£11520H
22 g A\ St () 51 181 5.6 104
23 e S\ AL (16 %) 63 91 2.9 EEH?

24 i85 SFE N\ IR A (1535 97 82.5 3.8 KIE1342A15H
25 e S\ AL (16 %) 45 72 3.3 A

26 I5 S A\ SR Ao At 46.5 38.5 3.0 KE12458EH
27 I A\ SRR () 47 66 4.3 AR 234
28 I5 3 S\ SR Ao At 98.2 86 3.8 BA54446 5
29 IR ISR (FREX) 32.8 39.9 2.1 ANER

30 TRER ANt 4 (FRIR) 24.3 36.5 1.7 B3A37F108 & H
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